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XBXE = Unaffected female
XBXPb = Carrier female

[X2x¥] = Color-blind female

XBY = Unaffected male

X-Linked Recessive -: Color-blind male

Disorders

* More males than females are affected.

¢ An affected son can have parents who have the
normal phenotype.

¢ For a female to have the characteristic, her father must
also have it. Her mother must have it or be a carrier.

* The characteristic often skips a generation from the
grandfather to the grandson.

¢ [f a woman has the characteristic, all of her sons will
have it.
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= affected

Autosomal dominant disorders

« Affected children will usually have
an affected parent.

* Heterozygotes (Aa) are affected.

= affected
[A7]= affected

(one allele unknown)
aa = unaffected

* Two affected parents can produce an unaffected unaffected child.
* Two unaffected parents will not have affected children.
* Both males and females are affected with equal frequency.
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[aa] = affected

Aa = carrier (unaffected)
AA = unaffected

Autosomal recessive disorders A? = unaffected
» Most affected children have unaffected (one allele unknown)
parents.

* Heterozygotes (Aa) have an unaffected phenotype.
* Two affected parents will always have affected children.

* Close relatives who reproduce are more likely to have
affected children.

* Both males and females are affected with equal frequency.





